Division par 0,01 (])

Trouvez chaque quotient.

2,169 + 0,01 = 7,0401 = 0,01 =
3,426 - 0,01 = 7,6451 + 0,01 =
9,3515 + 0,01 = 6,0326 = 0,01 =
1,1532 +- 0,01 = 6,22 + 0,01 =
7,1283 + 0,01 = 2,944 + 0,01 =
1,754 = 0,01 = 4,5+0,01=
1,849 =~ 0,01 = 8,587 +~ 0,01 =
7,19 - 0,01 = 1,2+0,01=

6,6 0,01 = 1,39 - 0,01 =
5+0,01= 9,47 - 0,01 =
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Division par 0,01 (J) Solutions

2,169 = 0,01 = 216,9

3,426 +~ 0,01 = 342,6

9,3515 + 0,01 =935,15

1,1532 + 0,01 = 115,32

7,1283 =+ 0,01 =712,83

1,754+ 0,01 =175,4

1,849 +- 0,01 = 184,9

7,19+ 0,01 =719

6,6 + 0,01 =660

5+ 0,01 =500

Trouvez chaque quotient.

7,0401 = 0,01 =704,01

7,6451 + 0,01 = 764,51

6,0326 =~ 0,01 = 603,26

6,22 + 0,01 =622

2,944 + 0,01 = 294,4

4,5+ 0,01 =450

8,587 + 0,01 = 858,7

1,2+0,01 =120

1,39-+0,01 =139

9,47 = 0,01 =947
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